                                                                                     KEY                                               SCORE _____/44

          Ch. 19: The Second Industrial Age         Section 3          Open Book Quiz 
FILL IN THE BLANK (2 PTS.)  PLEASE LIST PAGE NUMBER OF ANSWER 
             Multiple Choice

         _a_  1. How did the labor force change during the Second Industrial Revolution?   Pg # 624
a.
Skilled craftspeople were replaced with unskilled machine operators.

b.
Industries began to hire highly educated workers.

c.
Workers began to receive health benefits and better wages.

d.
Experienced workers replaced children who had been working in industries.

         _c_   2. The decline in working conditions in American industries in the late 1800s occurred because of the  
a.
drive to regulate monopolies.                                                                            Pg # 624                               
b.
weakening of labor unions. 
c.
emphasis on high profits and efficiency.

d.
abolition of health benefits.

  
       _a_
3. Which of the following was an effect of factory specialization in the late 1800s?   Pg # 624
a.
Workers repeated the same step over and over again, becoming tired, bored, and more likely to be injured.

b.
Factories produced only a single product, putting owners at greater financial risk if that product failed.

c.
Unions signed contracts with specific factories, eliminating violent conflicts over wages and working hours.

d.
Managers paid more attention to working conditions, attracting workers and creating greater job competition. 

          _c_  
4. Why did labor unions form?    Pg # 625
a.
Immigrants did not want to compete with natives for jobs.

b.
Women wanted equal treatment in the workplace.

c.
Workers needed to increase their bargaining power for wages and working conditions.

d.
Factory managers would only hire union labor.

         _d_  
5. What does Mary Harris Jones symbolize?   Pg # 625
a.
the importance of Irish immigrant labor

b.
the difficulty miners had in organizing a union

c.
the desire of mothers to end child labor

d.
the active role women played in unions

         _b_
6. For which of these improvements did the Knights of Labor fight?     Pg # 625
a.
equal rights for workers of all races

b.
an eight-hour workday

c.
government regulation of child labor (wanted to eliminate it)
d.
higher wages for unskilled workers

          _c_
7. What was Samuel Gompers’ role in the labor movement?    Pg # 625
a.
He organized the Pullman Strike.

b.
He founded the Knights of Labor.

c.
He was the president of the American Federation of Labor.

d.
He was the chairman of the American Railway Union.

          _d_
8. Collective bargaining is the              Pg # 626
a.
practice used by employers to find large groups of laborers.

b.
practice used by employers to get the cheapest labor possible.

c.
idea that laborers working in groups are more productive in the workplace.

d.
idea that laborers acting together as a group could improve working conditions.

          _b_
9. The government responded to the Homestead and Pullman Strikes in the late 1800s by     Pg # 627
a.
ignoring the conflicts between strikers and business owners.

b.
sending in federal troops to break up the strikes.

c.
forcing big business owners to raise the workers’ pay.

d.
passing legislation that made working in factories safer.

             
Study the quotation below and answer the question that follows.
“. . . the introduction of machinery is turning into idleness [joblessness] thousands . . . and yet, machinery certainly should not be either destroyed or hampered in its full development . . . The laborers must learn to think and act, and soon, too, that only by the power of organization, and common concert of action, can . . . their rights to life be recognized, and liberty and rights secured.”

—Samuel Gompers, from his “Letter on Labor in Industrial Society to Judge Peter Grosscup,” September 1894

         _d_
10. What is the main point that Samuel Gompers was trying to make?        
a.
machinery made laborers more productive and safer in the workplace.

b.
laborers would not be able to negotiate for better wages without joining a union.

c.
the use of machinery in industries should be banned.

d.
laborers should band together into unions to improve working conditions.

         _c_ 
11. Which event led to the weakening of the Knights of Labor?           Pg # 627
a.
the Steelworkers’ Strike

b.
the Homestead Strike

c.
the Haymarket Riot

d.
the Pullman Strikes

         _d_
12. The Homestead Strike was a protest       Pg # 627
a.
in Colorado demanding safer working conditions.

b.
in Chicago demanding an eight-hour workday.

c.
against the Pullman Palace Car Company to improve working conditions.

d.
against the Carnegie Steel Company to force the company not to cut jobs.

         _a_
13. What were union members fighting for at the strike that led to the Haymarket Riot?      Pg # 626     
a.
an eight-hour workday

b.
higher wages

c.
a ban on new machinery

d.
lower rents

          _c_
14. Andrew Carnegie dealt with the striking union workers at his Pennsylvania steel factory in 1892 by

a.
firing every worker and replacing them with machines.                                         Pg # 627
b.
firing half the workers and cutting pay for the remainder.

c.
locking workers out of the factory and hiring strike breakers.

d.
hiring guards to lock workers out of the plant.

Completion


15.Terence V. Powderly became leader of the Knights of Labor  in 1879 and created the first truly national labor     

                         union in the United States. (American Railway Union or Knights of Labor)  Pg # 625


16. The Homestead Strike was a protest against the Carnegie Steel Company. 
                               (Pullman Strike or Homestead Strike)   Pg # 627


17. At a protest in Chicago’s Haymarket Square, a bomb killed eight police officers and injured
                          many others. (Haymarket Square or Lincoln Square)    Pg # 626
True/False
          _T_
18. During the Second Industrial Revolution, skilled craftspeople were often replaced with unskilled workers who operated machinery.      Pg # 624
          _T_
19. The Knights of Labor was unusual in that it included both skilled and unskilled workers.    Pg # 625
         
 _F_
20. Samuel Gompers contributed to the labor movement by fighting for the rights of unskilled industrial workers.
                          Pg # 626
          _F_
21. George Pullman lowered rents in the Pullman Palace Car company town when he cut his workers’ pay.
                         Pg # 627 (He kept the rents at the same level)
          _T_
22. The governor of Pennsylvania called on the state militia to restore order after the Homestead strike.

                          Pg # 627
Eight hour day; equal pay for equal work; end child labor





Better conditions for miners; educated workers; organized strikes





Women not allowed to work; factory owners hired unskilled labor; labor unions for all workers.





Rags to riches; cigar maker; joined union; campaigned for right to picket, boycott & strike; gained respect for organized labor.





Most employers opposed collective bargaining





One of those convicted of conspiracy was a member of the Knights of Labor





The company wanted to buy new machinery and cut workers’ jobs.





Chicago: two protesting union members killed by police; next night thousands met at Haymarket Square-bomb killed 8 police; police open fire—kill several and wound 100.








